* WIDTHS

. AREA A W = 28
- : - AREA B W = 287
/4" CAP PLATE W/ I FLLEY WELD 1 374" X 1 3/47 % 3/16" cap ] " AREA ©: W = 28
V7B WELD ALL ARGUND PLATES 10 THESE TWQ ENDS S SIGN MOUNTS, 4 £A, 1S 27 X 2° X 3/16% 10 1/4" LONG, LOWER CHIPPEWS HOAT ACCESS ROAD: W = 27
3/367 FILLET WELD TO FRAME, MAIN PARI ROAD: W = 28 (NEAR WEST ENTRANCE)
. DRILL HOLES FOR R$~1 SIGN FASTENERS, MAIN PARK ROAD: W = 22° (NEAR EAST ENTRANCE ROAD)
) £OUAL £OUAL , EQUAL 12710 1T MAK. Cap L :
1 — f nE; s AX. ; NORTH LOOP: W = 28
7 7/ : HORSE STABLE: W = 22
N 7/ 7/ ROCK CREFK: W = 22
S DAVIS CREEK: W = 28"
~1 crepst / 7/ 71 ARER 20 W = 24'
o FITING N 7/ 7/ i AREA 3 W = 227
{ } . 2 ARER & W = 22
>< [ AREA 7; W = ' ,
. TKING ;W=
1 /8" FALET 4] 4R k 15 2 % 21 % 3/16 é?gggfjw i g AREA 8 & 10 BOAT ACTESS ROAD: 26
: = A N ]
" YELD. FRaE \_' 3/16" FILLEF WELD TO FRAME SEC LOCKING g
N 1 4
i WELD 1/4"LREATE TO 27 X 47 TUBE AND E;
o 2" % 4° TUBING BRACE 2" TUBE, CENTER PLATE ON TUBE, 5K 8% % 174" STEEL BLATE |
4" 0.D. STEEL FOST R :
5" 0.0, STESL POST 2" 5Q. STEEL TUBING i
BRERSE 3/16" FILLET WELD ALL AROUND BUTTWELD JOINTS
' 5" 0.0, COLLAR ;
FILLET WELD LEVELLING PLATE 7O COLLAR 3/16" ALL AROUND CONCRETE FOOTING
127 K 327 ¥ 17 LEVEUNG PLATE .
- 2 LEVELING NUTS W/ waSHERS, BOTH SIDES OF PLATE #8 REDAR L
1 /12_-——_“ 3 %_M.m #3 REDAR 18" DIA,
B i e
1 5/41/2” z E §4 REBAR CRISS- j\|
" CROSSED AND WELDED
e el ) 3/4% J-BOLT
‘\ REBAR LAYOUT
. |
w -
® ot RETROREFLECTIVE SHEETING, 67 RED/6” NOTE: USE vmm RESISTANT FASTENERS TO ATTACH SIGNS
WHITE STRIPS AND PIECES, } 1727 WIDE, I T FAGNG. IBOOND TragFic
2 REBAR CAGE INBOUND SIDE ARPUCATION SHOWN, ¥
wE : o 5 SEE LAYOUT TG RIGHT | REPEAT ON OUTBOUND SIDE.
Edel P -
gu. 3/4% ¥ 18" J-BOLT S 0
6 il |l N 43 rEeeR 110
BE |23
GE Tl ™ 43 REBAR L \-
Wy = o~
L i #5 REBAR APPLY B LENGTH OF WHITE 2" STEEL TUBING
t = 31/ - o~ T CONSPICUITY SHEETING ON OUTT
e 3 / SIGN & REFLECTOR LAYOU] ENDS OF BOTH GATE LEAVES. 5" 0.0, STEEL POST
#2 REBAR WBOUND AND DUTBOUND SIDES TO MATCH,
- CONCRETE FOOTING

2SS BM— vrosturseo e
SWING CATE—~—FRONT SIDE

HLOCKING MECHANISM TG BE LOCATED
ON THE FRONT SIDE OF SWING GATE

REBAR ELEVATION/SECTION

FOOTING PLAN

5% 0.B, STEEL POST
4" 0.0, STEEL POST

12" % 127 ¥ 3/47 LEVELING PLATE

3/4% %X 187 J4-BOLT, NUT, WASHER

2" 50, STEEL TUBING
CONTRACTOR 1O FROVIDE 2 PADLOCKS
MATCHING & KEYED 7O EXIST. IDNR LOCKS
3" % 87 % 1/&" STEEL BRACKET
[ BUTT WELD JOINTS.
W 3% 57 ¥ 1/47 STEEL
PLATE FILLET WELDED

O STEEL TUBING

2" STEEL TUBING

r
|

%2" Pt
! £ W?‘—'l
L /

I3 1 a1/

AR
1/2" Min,
FHLET WELD STEEL BRACKET

FLUSH TO STEEL TUBING

LOCKING MECHANISM

0.0, STEEL
PIPL WCiD 70
PLATE

17 0.0, STEEL BAR
CHAMFER END

TC 3/27 & DRILL
1/2% HOLE

PLAN

2" x 4" BRACE
5" §.0. GATE POSY

57 0.0, COUAR

FLET wWELh 57 o0

SECTION ELEVARION 2" 5G. SYEEL TUBING

ﬂ—‘_ 2" x 47 STEEL TUBING BRACE

S~

FILLET WELD FRAME 7O 5" 0.0. PGST

18"

17 DA
Y

il
)

STEEL BAR J
o

L /27 DiA, HOLE

1/47 CHAMFER vX

SECTION THRU BAR

TYPE A LOCKING PiN

18"

\—' 17 DA, STEEL BAR

i 1/4",1%

o
i

127"
i)
O

o

(I

B

ROTATED SECTION THRQ BAR

174" CHAVFER 3

TYPE B LOCKING PiN

cOiiaR 104" 00 Post 4: 0.0, POST
FRONT SIOE 500, POsT LOCKING FIN
T PROVIDE 2 EA OF 1 TYPE AS SPECIFIED
POST, SLEEVE, & COLLAR HINGE POST
ELEVATION SECTION
FILE MANE ¢ USER NRME ¢ Brad Downsr DESIGNZE - IO REVISED - F.h. SECTION COUNTY TOTEATL SHEET
LM 1B0T\H2EEI VN0, 157 Dr e L ADT. Shao £33 DBAGE 1 -ah1-De tosla.dign DRAWN -~ RAH REVISED  ~ STATE OF ILLINDIS :;]:ll(}:ﬁ?{ SRT:’EEL GSATTET?E‘:I; Rl PR RoADS - SH]iGS ?_,?4
PLOT SCALE « D.000Q "/ an. CHECKED -  BJ REVISED - DEPARTMENT OF TRANSPORTATION R STAIE PAR * WILL & KANKAKEE CONTRACT NC. 46251
o PLOT OATIE = 4/6/2813 DATE - 37292013 REVISED - SCALE: HN.T.E, E SHEETY 1 oF 2 SHEETS! 574, T0 STA, HLLINGISIFED, AFD PROJCT




